Chengjie YU¹

Abstract The authors obtain a complex Hessian comparison for almost Hermitian manifolds, which generalizes the Laplacian comparison for almost Hermitian manifolds by Tossati, and a sharp spectrum lower bound for compact quasi Kähler manifolds and a sharp complex Hessian comparison on nearly Kähler manifolds that generalize previous results of Aubin, Li Wang and Tam-Yu.

Keywords Almost-Hermitian manifolds, Quasi Kähler manifolds, Nearly Kähler manifolds
 2010 MR Subject Classification 53B35, 53C15

1 Introduction

A triple (M, J, g) is called an almost Hermitian manifold if J is an almost complex structure and g is a J-invariant Riemannian metric. There are two connections, one is the Levi-Civita connection and the other one is the canonical connection, on almost Hermitian manifolds, that play important roles on the geometry of almost Hermitian manifolds. The canonical connection is an extension of the Chern connection [6] on Hermitian manifolds. It was first introduced by Ehresmann-Libermann [9].

Geometers were used to use the Levi-Civita connection for the study of the geometry of almost Hermitian manifolds, see for example [1, 13–16]. However, later researches show that canonical connection is useful for the study of the geometry of almost Hermitian manifolds. For example, canonical connection is crucial for the study of the structure of nearly Kähler manifolds in [3, 24–25]. In [30], Tossati, Weinkove and Yau used the canonical connection to solve the Calabi-Yau equation on almost Kähler manifolds. The problem that Tossati, Weinkove and Yau considered is part of a program proposed by Donaldson [7–8] on sympletic topology. In [29], Tossati obtained a Laplacian comparison result about the canonical connection on almost Hermitian manifolds using the second variation of arc length and obtained a Schwartz lemma on almost Hermitian manifolds which is a generalization of the Schwartz lemma by Yau [31].

In this paper, by applying the same Bochner technique as in [22], we obtain a Hessian comparison on almost Hermitian manifolds which generalises Tossati's Laplacian comparison (see [29]). More precisely, we obtain the following result.

Manuscript received September 6, 2014. Revised September 9, 2016.

¹Department of Mathematics, Shantou University, Shantou 510630, Guangdong, China.

E-mail: cjyu@stu.edu.cn

^{*}This work was supported by the National Natural Science Foundation of China (No. 11571215), the Natural Science Foundation of Guangdong Province (No. S2012010010038) and a Supporting Project from the Department of Education of Guangdong Province (No. Yq2013073).

Theorem 1.1 Let (M, J, g) be a complete almost Hermitian manifold with holomorphic bisectional curvature bounded from below by -K with $K \ge 0$, torsion bounded by A_1 and the (2,0) part of the curvature tensor bounded by A_2 . Let o be a fixed point in M and ρ be the distance function to o. Then

$$\rho_{i\overline{j}} \le \left(\frac{1}{\rho} + C\right) g_{i\overline{j}} \tag{1.1}$$

within the cut-locus of o where $C = \left(\left(8\sqrt{n}+2\right)A_1^2 + 4A_2 + 2K\right)^{\frac{1}{2}}$. Here $\rho_{i\bar{j}}$ means the complex Hessian of ρ with respect to the canonical connection.

Moreover, with the same technique, we obtain the following sharp diameter estimate for almost Hermitian manifolds.

Theorem 1.2 Let (M, J, g) be a complete almost Hermitian manifold with quasi holomorphic sectional curvature not less than K > 0. Then $d(M) \leq \frac{\pi}{\sqrt{K}}$.

For the definition of quasi holomorphic sectional curvature, see Definition 3.2. It extends the notion with the same name for Hermitian manifolds in [4] to almost Hermitian manifolds. In fact, the above diameter estimate was disguised with a seemingly different curvature assumption in [14]. However, one can show that the two curvature assumptions are the same by using the curvature identities derived in [32]. The same diameter estimate for Hermitian manifolds was also obtained in [4].

Our method to prove Theorem 1.1 and Theorem 1.2 is different from those in [4, 14, 29] where the authors all used the second variation of arc length. Our method here is first to compute the evolution ordinary differential equation of the Hessian of ρ along a normal geodesic which turns out to be a matrix Riccati equation. Then the comparison theorems for matrix Riccati of Royden [27] gives us the conclusions directly. The technique was used in [22].

Furthermore, by using a similar technique as in [2, 11], we have the following sharp spectrum lower bound for compact quasi Kähler manifolds.

Theorem 1.3 Let (M, J, g) be a compact quasi Kähler manifold with the quasi Ricci curvature bounded from below by a positive constant K. Then $\lambda_1 \geq 2K$, where λ_1 is the first eigenvalue for the Laplacian operator of (M, g).

For the definition of quasi Ricci curvature, see Definition 4.1. In fact, this result generalizes the corresponding result of Aubin [2] on compact Kähler manifolds to compact quasi Kähler manifolds. Moreover, note that the equality in the result is not only achieved by \mathbb{CP}^n with Fubini-Study metric but also be achieved by non-Kähler manifolds. For example, the six dimensional sphere with the standard complex structure and standard metric. Moreover, one should note that the quasi Kähler structure is crucial for the sharp spectrum lower bound above. By a classical result of Lichnerowicz [23], the spectrum lower bound for *n* dimensional compact Riemannian manifolds with Ricci curvature not less than (n-1)K is nK. It was shown by Obata [26] that the equality holds if and only if the manifold is a round sphere. The sharp spectrum lower bound of Lichnerowicz is not sharp for quasi Kähler manifolds.

Finally, we obtain a sharp Hessian comparison on nearly Kähler manifolds which generalizes some results in [22, 28] on Kähler manifolds.

Theorem 1.4 Let (M, J, g) be a complete nearly Kähler manifold and o be a fixed point in M. Let $B_o(R)$ be a geodesic ball within the cut-locus of o. Suppose that the quasi holomorphic bisectional curvature on $B_o(R)$ is not less than K, where K is a constant. Then

$$\rho_{i\overline{j}} \leq \begin{cases} \sqrt{\frac{K}{2}} \cot\left(\sqrt{\frac{K}{2}}\rho\right) (g_{i\overline{j}} - 2\rho_i\rho_{\overline{j}}) + \sqrt{2K} \cot(\sqrt{2K}\rho)\rho_i\rho_{\overline{j}}, & K > 0, \\ \frac{1}{\rho} (g_{i\overline{j}} - \rho_i\rho_{\overline{j}}), & K = 0, \\ \sqrt{-\frac{K}{2}} \coth\left(\sqrt{-\frac{K}{2}}\rho\right) (g_{i\overline{j}} - 2\rho_i\rho_{\overline{j}}) + \sqrt{-2K} \coth(\sqrt{-2K}\rho)\rho_i\rho_{\overline{j}}, & K < 0 \end{cases}$$
(1.2)

in $B_o(R)$ with equality holds all over $B_o(R)$ if and only if $B_o(R)$ is holomorphic and isometric equivalent to the geodesic ball with radius R in the Kähler space form of constant holomorphic bisectional curvature K, where ρ is the distance function to the fixed point o.

For the definition of quasi holomorphic bisectional curvature, see Definition 5.1. By the application of the Hessian comparison above, we can obtain eigenvalue comparison and volume comparison on nearly Kähler manifolds by classical arguments. Please see Section 5 for details.

Note that in [30], Tossati, Weinkove and Yau introduced a new notion of curvature that couples up the (1, 1)-part of the curvature tensor and the torsion of the canonical connection on almost Kähler manifolds and is crucial for solving the Calabi-Yau equation on almost Kähler manifolds. In this paper, the new notions of curvature defined are different with that of Tossati, Weinkove and Yau. We hope that the new notions of curvature introduced here for almost Hermitian manifolds, quasi Kähler manifolds and nearly Kähler manifolds have some further applications.

The outline of the paper is as follows. In Section 2, we recall some preliminaries in almost Hermitian geometry and generalized Kähler geometry. In Section 3, we prove Theorem 1.1 and Theorem 1.2. In Section 4, we prove Theorem 1.3. Finally, in Section 5, we prove Thereom 1.4 and present some of its corollaries.

2 Preliminaries

In this section, we recall some definitions and known results for almost Hermitian manifolds, quasi Kähler manifolds and nearly Kähler manifolds.

Definition 2.1 (see [12, 19–20]) Let (M, J) be an almost complex manifold. A Riemannian metric g on M such that g(JX, JY) = g(X, Y) for any two tangent vectors X and Y is called an almost Hermitian metric. The triple (M, J, g) is called an almost Hermitian manifold. The two form $\omega_g = g(JX, Y)$ is called the fundamental form of the almost Hermitian manifold. A connection ∇ on an almost Hermitian manifold (M, J, g) such that $\nabla g = 0$ and $\nabla J = 0$ is called an almost Hermitian connection.

Note that the torsion τ of the connection ∇ is a vector-valued two form defined as

$$\tau(X,Y) = \nabla_X Y - \nabla_Y X - [X,Y].$$
(2.1)

An almost Hermitian connection is uniquely determined by its (1, 1)-part. In particular, there is a unique almost Hermitian connection with vanishing (1, 1)-part. Such a connection is called the canonical connection which was first introduced by Ehresman and Libermann [9].

Definition 2.2 (see [19–20]) The unique almost Hermitian connection ∇ on an almost Hermitian manifold (M, J, g) with vanishing (1, 1)-part of the torsion is called the canonical connection of the almost Hermitian manifold.

For sake of convenience, we adopt the following conventions in the remaining part of this paper:

(1) Without further indications, the manifold is of real dimension 2n.

(2) D denotes the Levi-Civita connection and R^L denotes its curvature tensor and "," means taking covariant derivatives with respect to D.

(3) ∇ denotes the canonical connection, R denotes the curvature tensor of ∇ and ";" means taking covariant derivatives with respect to ∇ .

(4) Without further indications, a, b, c, d denote indices in $\{1, \overline{1}, \dots, n, \overline{n}\}$.

(5) Without further indications, i, j, k, l denote indices in $\{1, 2, \dots, n\}$.

(6) Without further indications, $\alpha, \beta, \lambda, \mu, \nu$ denote summation indices going through $\{1, 2, \dots, n\}$.

Recall the definition of curvature operator:

$$R(X,Y)Z = \nabla_X \nabla_Y Z - \nabla_Y \nabla_X Z - \nabla_{[X,Y]} Z.$$
(2.2)

The curvature tensor is defined as

$$R(X, Y, Z, W) = \langle R(Z, W)X, Y \rangle.$$
(2.3)

Fixed a unitary (1,0)-frame (e_1, e_2, \cdots, e_n) , since $\nabla J = 0$, we have

$$R_{ijab} = R_{i\ ab}^{\ j} = 0 \tag{2.4}$$

for all indices i, j and a, b. Moreover, similarly as in the Riemannian case, we have the following symmetries of the curvature tensor:

$$R_{abcd} = -R_{bacd} = -R_{abdc} \tag{2.5}$$

for all indices a, b, c and d. Recall that $R'_{ab} = g^{\overline{\mu}\lambda} R_{\lambda\overline{\mu}ab}$ and $R''_{i\overline{j}} = g^{\overline{\mu}\lambda} R_{i\overline{j}\lambda\overline{\mu}}$ are called the first and the second Ricci curvature of the almost Hermitian metric g respectively.

The following first Bianchi identities for almost Hermitian manifolds are frequently used in the computations of the remaining part of this paper. One can find them in [19, 30, 32].

Proposition 2.1 Let (M, J, g) be an almost Hermitian manifold. Fixed a unitary frame, we have

$$\begin{array}{l} (1) \ R_{i\overline{j}k\overline{l}} - R_{k\overline{j}i\overline{l}} = \tau^{j}_{ik;\overline{l}} - \tau^{\overline{\lambda}}_{ik}\tau^{j}_{l\lambda}; \\ (2) \ R_{i\overline{j}k\overline{l}} - R_{i\overline{l}k\overline{j}} = \tau^{\overline{i}}_{j\overline{l};k} - \tau^{\overline{i}}_{k\lambda}\tau^{\lambda}_{\overline{j}\overline{l}}; \\ (3) \ R_{i\overline{j}k\overline{l}} - R_{k\overline{l}i\overline{j}} = \tau^{l}_{ik;\overline{j}} + \tau^{\overline{i}}_{\overline{j}\overline{l};k} - \tau^{\overline{i}}_{k\lambda}\tau^{\lambda}_{\overline{j}\overline{l}} - \tau^{\overline{\lambda}}_{ik}\tau^{l}_{\overline{j}\overline{\lambda}}; \\ (4) \ R_{i\overline{j}kl} = -\tau^{\overline{i}}_{kl;\overline{j}} + \tau^{\overline{i}}_{\overline{j\lambda}}\tau^{\lambda}_{kl}. \end{array}$$

The following general Ricci identity for commuting indices of covariant derivatives is useful for computation. One can find it in [10].

Lemma 2.1 Let M^n be a smooth manifold, and E be a vector bundle on M. Let D be a connection on E and ∇ be a connection on M with torsion τ . Then

$$D^{2}s(X,Y) - D^{2}s(Y,X) = -R(X,Y)s + D_{\tau(X,Y)}s$$

for any cross section s of E, and tangent vector fields X and Y.

Applying Lemma 2.1 to $E = \otimes^r T^*M$, we have the following corollary.

Corollary 2.1 Let (M^n, g) be a Riemannian manifold and D be a connection on M compatible with g and with torsion τ . Let $T_{a_1a_2\cdots a_r}$ be a tensor on M. Then

 $T_{a_1a_2\cdots a_r;bc} - T_{a_1a_2\cdots a_r;cb}$ = $R_{a_1\lambda bc}g^{\lambda\mu}T_{\mu a_2\cdots a_r} + R_{a_2\lambda bc}g^{\lambda\mu}T_{a_1\mu\cdots a_r} + \dots + R_{a_r\lambda bc}g^{\lambda\mu}T_{a_1a_2\cdots \mu} + \tau_{bc}^{\lambda}T_{a_1a_2\cdots a_r;\lambda}.$ (2.6)

Directly by the Corollary 2.1, we have

$$f_{i\overline{j}} = f_{\overline{j}i} \tag{2.7}$$

and

$$f_{ij} - f_{ji} = \tau_{ij}^{\lambda} f_{\lambda} + \tau_{ij}^{\overline{\lambda}} f_{\overline{\lambda}}$$
(2.8)

for any smooth function f on almost Hermitian manifolds since $\tau_{i\bar{j}}^a = 0$.

Moreover, recall the following difference of Levi-Civita connection and another compatible connection on Riemannian manifolds.

Lemma 2.2 (see [10, 12, 30]) Let (M, g) be a Riemannian manifold and D be the Levi-Civita connection. Let ∇ be another connection on M compatible with g and with torsion τ . Then

$$\langle D_Y X - \nabla_Y X, Z \rangle = \frac{1}{2} (\langle \tau(X, Y), Z \rangle + \langle \tau(Y, Z), X \rangle - \langle \tau(Z, X), Y \rangle).$$

By using Lemma 2.2 directly, we have the following relation of the Hessian and divergence operators with respect to the Levi-Civita connection and another compatible connection.

Lemma 2.3 Let (M,g) be a Riemannian manifold and D be the Levi-Civita connection. Let ∇ be another connection on M compatible with g and with torsion τ . Let f be a smooth function. Then

$$\nabla^2 f(X,Y) - D^2 f(X,Y)$$

= $\frac{1}{2} [\langle \tau(X,Y), \nabla f \rangle + \langle \tau(Y,\nabla f), X \rangle - \langle \tau(\nabla f,X), Y \rangle].$ (2.9)

Proof By the definition of Hessian, we have

$$\nabla^2 f(X,Y) - D^2 f(X,Y) = \langle D_Y X - \nabla_Y X, \nabla f \rangle.$$
(2.10)

Then, Lemma 2.2 gives us the conclusion directly.

Applying Lemma 2.3 to almost Hermitian manifolds, we get the following corollaries.

Corollary 2.2 On an almost Hermitian manifold, fixed a unitary frame,

$$f_{i\overline{j}} - f_{,i\overline{j}} = \frac{1}{2} (\tau^j_{i\lambda} f_{\overline{\lambda}} + \tau^{\overline{i}}_{\overline{j\lambda}} f_{\lambda}), \qquad (2.11)$$

$$f_{ij} - f_{,ij} = \frac{1}{2} (\tau_{ij}^{\lambda} f_{\lambda} + \tau_{ij}^{\overline{\lambda}} f_{\overline{\lambda}} + \tau_{i\lambda}^{\overline{j}} f_{\overline{\lambda}} + \tau_{j\lambda}^{\overline{j}} f_{\overline{\lambda}} + \tau_{j\lambda}^{\overline{i}} f_{\overline{\lambda}})$$
(2.12)

and

$$\Delta f - \Delta^L f = \tau^{\mu}_{\mu\lambda} f_{\overline{\lambda}} + \tau^{\overline{\mu}}_{\overline{\mu}\overline{\lambda}} f_{\lambda}$$
(2.13)

where "," means taking covariant derivatives with respect to the Levi-Civita connection and Δ^L is the Laplacian operator with respect to the Levi-Civita connection.

Similarly, we have the following comparison of divergence operators.

Lemma 2.4 Let X be a vector field on an almost Hermitian manifold M and fixed a unitary frame. Then

$$\operatorname{div} X - \operatorname{div}_{L} X = X^{\lambda} \tau^{\mu}_{\mu\lambda} + X^{\overline{\lambda}} \tau^{\overline{\mu}}_{\overline{\mu}\overline{\lambda}}, \qquad (2.14)$$

where div $X = X_{;\lambda}^{\lambda} + X_{;\overline{\lambda}}^{\overline{\lambda}}$ is the divergence of X with respect to the canonical connection and div $_{L}X$ is the divergence of X with respect to the Levi-Civita connection.

Next, recall the definition of quasi Kähler manifolds.

Definition 2.3 An almost Hermitian manifold (M, J, g) is called a quasi Kähler manifold if $\overline{\partial}\omega_g := (\mathrm{d}\omega_g)^{(1,2)} = 0.$

The following criterion for quasi Kählerity is well known.

Proposition 2.2 (see [19, 30]) Let (M, J, g) be an almost Hermitian manifold. Then, it is quasi Kähler if and only if $\tau_{ij}^k = 0$ for any i, j and k.

Applying Proposition 2.2 to Proposition 2.1, we have the following first Bianchi identities on quasi Kähler manifolds.

Corollary 2.3 Let (M, J, g) be an quasi Kähler manifold. Fixed a unitary frame, we have (1) $R_{i\bar{i}k\bar{l}} - R_{k\bar{i}i\bar{l}} = -\tau_{ik}^{\bar{\lambda}}\tau_{\bar{l}\bar{\lambda}}^{j}$;

(2)
$$R_{i\overline{j}k\overline{l}} - R_{i\overline{l}k\overline{j}} = -\tau_{k\lambda}^{\overline{i}}\tau_{j\overline{l}}^{\lambda};$$

(3)
$$R_{i\overline{j}k\overline{l}} - R_{k\overline{l}i\overline{j}} = -\tau_{k\lambda}^{\overline{i}}\tau_{\overline{j}\overline{l}}^{\lambda} - \tau_{ik}^{\overline{\lambda}}\tau_{\overline{j\lambda}}^{l};$$

(4)
$$R_{i\overline{j}kl} = -\tau^i_{kl;\overline{j}}$$

Applying Proposition 2.2 to Corollary 2.2 and Lemma 2.4, we have the following corollary.

Corollary 2.4 Let (M, g, J) be a quasi Kähler manifold. Then $f_{i\overline{j}} = f_{,i\overline{j}}$, $\Delta f = \Delta^L f$ and div $X = \operatorname{div}_L X$.

Finally, recall the definition of nearly Kähler manifolds.

Definition 2.4 Let (M, J, g) be an almost Hermitian manifold. It is called nearly Kähler if $(D_X J)X = 0$ for any tangent vector X.

For nearly Kähler manifolds, the difference between canonical connection and Levi-Civita connection becomes simpler.

Lemma 2.5 (see [16]) Let (M, J, g) be a nearly Kähler manifold. Then

$$\nabla_X Y = D_X Y - \frac{1}{2} J(D_X J)(Y)$$
 (2.15)

for any tangent vector fields X and Y. In particular,

$$\nabla_X X = D_X X$$

for any tangent vector field X.

The following criterion for nearly Kähler manifold is well known, see for example [24–25].

Lemma 2.6 An almost Hermitian manifold (M, J, g) is nearly Kähler if and only if $\tau_{ij}^k = 0$ and $\tau_{ij}^{\overline{k}} = \tau_{jk}^{\overline{i}}$ for all i, j and k when we fix a (1, 0)-frame.

Nearly Kähler manifolds have an important property, that is, the torsion of the canonical connection is parallel.

Theorem 2.1 (see [18, 32]) Let (M, J, g) be a nearly Kähler manifold. Then $\nabla \tau = 0$.

Applying Lemma 2.6 and Theorem 2.1 to Proposition 2.1, we have the following first Bianchi identities for nearly Kähler manifolds.

Corollary 2.5 Let (M, J, g) be a nearly Kähler manifold and fixed a unitary frame. Then (1) $R_{i\overline{i}} = 0;$

(2)
$$R_{i\bar{j}k\bar{l}} - R_{k\bar{j}i\bar{l}} = -\tau_{i\bar{k}}^{\overline{\lambda}}\tau_{\bar{i}\bar{l}}^{\lambda}$$

 $\begin{array}{l} (2) \ R_{i\overline{j}k\overline{l}} - R_{k\overline{j}i\overline{l}} = -\tau_{ik}^{\lambda}\tau_{\overline{j}k}^{\lambda}; \\ (3) \ R_{i\overline{j}k\overline{l}} - R_{i\overline{l}k\overline{j}} = -\tau_{ik}^{\overline{\lambda}}\tau_{\overline{j}l}^{\lambda}; \end{array}$

(4)
$$R_{i\overline{j}k\overline{l}} = R_{k\overline{l}i\overline{j}}$$
.

By (4) of the above corollary, the first Ricci curvature and second Ricci curvature for nearly Kähler manifolds coincides, so we simply denote them as $R_{i\bar{i}}$.

3 Hessian Comparison and Diameter Estimate on Almost Hermitian Manifolds

In this section, we generalize the results in [22, 28–29] to almost Hermitian manifolds. The same as in Tosatti [29], we make the following definition about the bound-ness of the curvatures of an almost Hermitian manifold.

Definition 3.1 Let (M, J, q) be an almost Hermitian manifold. We say that the holomorphic bisectional curvature of (M, J, g) is bounded from below by K if

$$R(X, \overline{X}, Y, \overline{Y}) \ge K \|X\|^2 \|Y\|^2 \tag{3.1}$$

for any $X, Y \in T^{1,0}M$. We say that the torsion of (M, J, g) is bounded by A_1 if

$$\|\tau(X,Y)\| \le A_1 \|X\| \|Y\| \tag{3.2}$$

for any $X, Y \in T^{1,0}M$. We say that the (2,0) part of the curvature tensor of (M, J, g) is bounded by A_2 if

$$|R(\overline{X}, Y, Y, X)| \le A_2 ||X||^2 ||Y||^2$$
(3.3)

for any $X, Y \in T^{1,0}M$.

Let (M, J, g) be an almost Hermitian manifold. We denote its distance function to a fixed point o as ρ . Similarly as in Li-Wang [22], we have the following.

Lemma 3.1 Fixed a unitary frame (e_1, e_2, \dots, e_n) , we have

$$\rho_{\lambda a}\rho_{\overline{\lambda}} + \rho_{\lambda}\rho_{\overline{\lambda}a} = 0. \tag{3.4}$$

Proof Note that $\rho_{\lambda}\rho_{\overline{\lambda}} = \frac{1}{2}$. Hence

$$0 = (\rho_{\lambda}\rho_{\overline{\lambda}})_a = \rho_{\lambda a}\rho_{\overline{\lambda}} + \rho_{\lambda}\rho_{\overline{\lambda}a}.$$
(3.5)

Lemma 3.2 Fixed a unitary frame (e_1, e_2, \dots, e_n) , we have

$$\rho_{k\overline{l}\nu}\rho_{\overline{\nu}} + \rho_{k\overline{l}\overline{\nu}}\rho_{\nu}$$

$$= -\rho_{\nu\overline{l}}\rho_{\overline{\nu}k} - \rho_{\overline{\nu}}\tau^{\lambda}_{\nu k}\rho_{\lambda\overline{l}} - \rho_{k\overline{\lambda}}\overline{\tau^{\overline{\lambda}}_{\overline{\nu}\overline{l}}}\rho_{\nu} - \rho_{\nu k}\rho_{\overline{\nu}\overline{l}} - \rho_{\lambda k}\tau^{\lambda}_{\overline{\nu}\overline{l}}\rho_{\nu} - \rho_{\overline{\nu}}\overline{\tau^{\overline{\lambda}}_{\nu k}}\rho_{\overline{\lambda}\overline{l}}$$

$$- (R_{\overline{l}\lambda\nu k} + \tau^{\overline{\mu}}_{\nu k}\tau^{\overline{\lambda}}_{\overline{l}\overline{\mu}})\rho_{\overline{\lambda}}\rho_{\overline{\nu}} - (R_{k\overline{\lambda}\overline{\nu}\overline{l}} + \tau^{\lambda}_{k\mu}\tau^{\mu}_{\overline{\nu}\overline{l}})\rho_{\lambda}\rho_{\nu} - (R_{\nu\overline{\lambda}k\overline{l}} + \tau^{\overline{\nu}}_{k\mu}\tau^{\mu}_{\overline{\lambda}\overline{l}} + \tau^{\lambda}_{\nu k}\tau^{\lambda}_{\overline{l}\overline{\mu}})\rho_{\lambda}\rho_{\overline{\nu}}. \quad (3.6)$$

Proof Note that $\rho_{\nu}\rho_{\overline{\nu}} = \frac{1}{2}$. Hence

$$\begin{split} 0 &= (\rho_{\nu}\rho_{\overline{\nu}})_{k\overline{l}} \\ &= \rho_{\nu k}\rho_{\overline{\nu}\overline{l}} + \rho_{\nu\overline{l}}\rho_{\overline{\nu}k} + \rho_{\nu k\overline{l}}\rho_{\overline{\nu}} + \rho_{\overline{\nu}k\overline{l}}\rho_{\overline{\nu}} \\ &= \rho_{\nu k}\rho_{\overline{\nu}\overline{l}} + \rho_{\nu\overline{l}}\rho_{\overline{\nu}k} + (\rho_{k\nu} + \tau^{\lambda}_{\nu k}\rho_{\lambda} + \tau^{\overline{\lambda}}_{\nu k}\rho_{\overline{\lambda}})_{\overline{l}}\rho_{\overline{\nu}} + \rho_{k\overline{\nu}\overline{l}}\rho_{\nu} \\ &= \rho_{\nu k}\rho_{\overline{\nu}\overline{l}} + \rho_{\nu\overline{l}}\rho_{\overline{\nu}k} + (\rho_{k\nu\overline{l}} + \tau^{\lambda}_{\nu k,\overline{l}}\rho_{\lambda} + \tau^{\lambda}_{\nu k}\rho_{\lambda\overline{l}} + \tau^{\overline{\lambda}}_{\nu k,\overline{l}}\rho_{\overline{\lambda}} + \tau^{\overline{\lambda}}_{\nu k}\rho_{\overline{\lambda}\overline{l}})\rho_{\overline{\nu}} \\ &+ (\rho_{k\overline{l}\overline{\nu}} + R_{k\overline{\lambda}\overline{\nu}\overline{l}}\rho_{\lambda} + \tau^{\lambda}_{\overline{\nu}}\rho_{k\lambda} + \tau^{\overline{\lambda}}_{\overline{\nu}}\rho_{\lambda})\rho_{\nu} \\ &= \rho_{\nu k}\rho_{\overline{\nu}\overline{l}} + \rho_{\nu\overline{l}}\rho_{\overline{\nu}k} + (\rho_{k\overline{l}\nu} + R_{k\overline{\lambda}\overline{\nu}\overline{l}}\rho_{\lambda} + \tau^{\overline{\lambda}}_{\nu k}\rho_{\lambda} + \tau^{\overline{\lambda}}_{\nu k,\overline{l}}\rho_{\lambda} + \tau^{\overline{\lambda}}_{\nu k}\rho_{\overline{\lambda}\overline{l}} + \tau^{\lambda}_{\nu k}\rho_{\lambda\overline{l}} + \tau^{\lambda}_{\nu k}\rho_{\overline{\lambda}\overline{l}})\rho_{\overline{\nu}} \\ &+ (\rho_{k\overline{l}\overline{\nu}} + R_{k\overline{\lambda}\overline{\nu}\overline{l}}\rho_{\lambda} + \tau^{\lambda}_{\overline{\nu}}\rho_{k\lambda} + \tau^{\overline{\lambda}}_{\overline{\nu}}\rho_{\lambda})\rho_{\nu} \\ &= \rho_{\nu k}\rho_{\overline{\nu}\overline{l}} + \rho_{\nu\overline{l}}\rho_{\overline{\nu}k} + [\rho_{k\overline{l}\nu} + R_{\nu\overline{\lambda}k\overline{l}}\rho_{\lambda} - \tau^{\lambda}_{\overline{l}\mu}\tau^{\mu}_{k\nu}\rho_{\lambda} + (R_{\overline{l}\lambda\nu k} + \tau^{\overline{\lambda}}_{\overline{l}\mu}\rho_{\overline{\lambda}})\rho_{\overline{\lambda}} + \tau^{\lambda}_{\nu k}\rho_{\lambda\overline{l}} \\ &+ \tau^{\overline{\lambda}}_{\nu k}(\rho_{\overline{l}\lambda} + \tau^{\mu}_{\overline{\lambda}}\rho_{\mu} + \tau^{\overline{\mu}}_{\overline{\lambda}}\rho_{\overline{\mu}})]\rho_{\overline{\nu}} + (\rho_{k\overline{l}\overline{\nu}} + R_{k\overline{\lambda}\overline{\nu}\overline{l}}\rho_{\lambda} + \tau^{\lambda}_{\overline{\nu}\overline{l}}\rho_{\nu} + \rho_{\nu k}\rho_{\overline{\lambda}\overline{l}} + \rho_{k\overline{\lambda}}\tau^{\overline{\lambda}}_{\overline{\nu}\overline{l}}\rho_{\nu} + \rho_{\nu k}\rho_{\overline{\nu}\overline{l}} + \rho_{k\overline{\lambda}}\tau^{\overline{\lambda}}_{\overline{\nu}}\rho_{\overline{\lambda}})\rho_{\nu} \\ &= (\rho_{k\overline{l}\nu\rho_{\overline{\nu}} + \rho_{k\overline{l}\overline{\nu}\rho_{\nu}) + \rho_{\nu\overline{l}}\rho_{\overline{\nu}k} + \rho_{\overline{\nu}}\tau^{\lambda}_{\lambda}\rho_{\lambda\overline{l}} + \rho_{k\overline{\lambda}}\tau^{\overline{\lambda}}_{\overline{\nu}\overline{l}}\rho_{\nu} + \rho_{\nu k}\rho_{\overline{\nu}\overline{l}} + (\rho_{\lambda k} + \tau^{\mu}_{k\lambda}\rho_{\mu})\tau^{\lambda}_{\overline{k}}\rho_{\overline{\mu}}) \\ &+ \rho_{\overline{\nu}}\tau^{\overline{\lambda}}_{\overline{\lambda}}(\rho_{\overline{\lambda}\overline{l}} + \tau^{\mu}_{\overline{l}\lambda}\rho_{\mu}) + \tau^{\mu}_{\overline{\mu}}\rho_{\overline{\mu}}) + R_{\overline{l}\lambda\nu\mu}\rho_{\overline{\lambda}}\rho_{\overline{\nu}} + R_{k\overline{\lambda}\overline{\nu}\overline{l}}\rho_{\lambda\rho} + R_{k\overline{\lambda}\overline{\nu}\overline{l}}\rho_{\lambda\rho} \\ &= (\rho_{k\overline{l}\nu\rho_{\overline{\nu}} + \rho_{k\overline{l}\overline{\nu}}\rho_{\nu}) + \rho_{\nu\overline{l}}\rho_{\overline{\nu}k} + \rho_{\overline{\nu}}\tau^{\lambda}_{\lambda}\rho_{\overline{\lambda}}\rho_{\overline{\nu}} + R_{k\overline{\lambda}\overline{\lambda}}\overline{\tau}^{\overline{\lambda}}_{\overline{\mu}}\rho_{\mu} + r^{\mu}_{k\overline{\lambda}}\rho_{\overline{\mu}})\tau^{\lambda}_{\mu}\rho_{\overline{\mu}} \\ &+ \rho_{\overline{\nu}}\tau^{\lambda}_{\overline{\mu}}(\rho_{\overline{\lambda}}) + \tau^{\mu}_{\mu}\rho_{\overline{\mu}}) \\ &= (\rho_{k\overline{l}\nu\rho_{\overline{\nu}} + \rho_{k\overline{l}\overline{\nu}}\rho_{\overline{\nu}}) + \rho_{\mu\overline{l}}\rho_{\overline{\nu}}\rho_{\overline{\nu}} + \rho_{\overline{\nu}}\tau^{\lambda}_{\lambda}\rho_{\overline{\lambda}}\rho_{\overline{\nu}} \\ \\ &= (\rho$$

where we have used Proposition 2.1 and Corollary 2.1. This completes the proof.

Theorem 3.1 Let (M, J, g) be a complete almost Hermitian manifold with holomorphic bisectional curvature bounded from blow by -K with $K \ge 0$, torsion bounded by A_1 and the (2,0) part of the curvature tensor bounded by A_2 . Then

$$\rho_{i\overline{j}} \le \left(\frac{1}{\rho} + C\right) g_{i\overline{j}} \tag{3.8}$$

within the cut-locus of o, where $C = ((8\sqrt{n}+2)A_1^2 + 4A_2 + 2K)^{\frac{1}{2}}$.

Proof Let γ be a normal geodesic starting from o. Let (e_1, e_2, \dots, e_n) be a parallel unitary frame along γ . Let

$$\begin{split} X &= (\rho_{k\overline{l}})_{k=1,2,\cdots,n}^{l=1,2,\cdots,n}, \\ A &= (\rho_{\overline{\lambda}}\tau_{\lambda k}^{l})_{k=1,2,\cdots,n}^{l=1,2,\cdots,n}, \\ B &= (\rho_{\overline{k}\overline{l}})_{k=1,2,\cdots,n}^{l=1,2,\cdots,n}, \\ C &= (\tau_{\overline{k}\overline{l}}\rho_{\lambda})_{k=1,2,\cdots,n}^{l=1,2,\cdots,n}, \\ D &= ((R_{k\overline{\lambda}\overline{\nu}\overline{l}} + \tau_{k\mu}^{\lambda}\tau_{\overline{\nu}\overline{l}}^{\mu})\rho_{\lambda}\rho_{\nu})_{k=1,2,\cdots,n}^{l=1,2,\cdots,n}, \\ E &= ((R_{\mu\overline{\lambda}k\overline{l}} + \tau_{k\nu}^{\overline{\mu}}\tau_{\overline{\lambda}\overline{l}}^{\nu} + \tau_{\mu k}^{\overline{\nu}}\tau_{\overline{l}\overline{\nu}}^{\lambda})\rho_{\lambda}\rho_{\overline{\mu}})_{k=1,2,\cdots,n}^{l=1,2,\cdots,n}. \end{split}$$

Then, by Lemma 3.2, we know that

$$\frac{\mathrm{d}X}{\mathrm{d}\rho} + X^2 + AX + XA^*$$

= $-B^*B - B^*C - C^*B - (D + D^*) - E$
= $-(B^* + C^*)(B + C) + C^*C - (D + D^*) - E$
 $\leq C^*C - (D + D^*) - E.$ (3.9)

Moreover, for any column vector u, we have

$$u^* C^* C u = \|Cu\|^2 \le \frac{1}{2} A_1^2 \|u\|^2,$$
(3.10)

$$\left|\sum_{k,l,\lambda,\nu=1}^{n} \overline{u}_{k} R_{k\overline{\lambda}\overline{\nu}l} \rho_{\lambda} \rho_{\nu} u_{l}\right| \leq \frac{1}{2} A_{2} \|u\|^{2}$$

$$(3.11)$$

and

$$\left|\sum_{k,l,\lambda,\mu,\nu=1}^{n} \overline{u}_{k} \tau_{k\mu}^{\lambda} \rho_{\lambda} \tau_{\overline{\nu}l}^{\mu} \rho_{\nu} u_{l}\right|$$

$$\leq \left(\sum_{\mu=1}^{n} \left|\sum_{k,\lambda=1}^{n} \overline{u}_{k} \tau_{k\mu}^{\lambda} \rho_{\lambda}\right|^{2}\right)^{\frac{1}{2}} \left(\sum_{\mu=1}^{n} \left|\sum_{l,\nu=1}^{n} \tau_{\overline{\nu}l}^{\mu} \rho_{\nu} u_{l}\right|^{2}\right)^{\frac{1}{2}}$$

$$\leq \frac{1}{\sqrt{2}} \left(\sum_{\lambda,\mu=1}^{n} \left|\sum_{k=1}^{n} \overline{u}_{k} \tau_{k\mu}^{\lambda}\right|^{2}\right)^{\frac{1}{2}} \times \frac{1}{\sqrt{2}} A_{1} \|u\|$$

$$\leq \frac{\sqrt{n}}{2} A_{1}^{2} \|u\|^{2}.$$
(3.12)

So,

$$-u^*(D+D^*)u \le (A_2 + \sqrt{n}A_1^2) \|u\|^2.$$
(3.13)

Furthermore,

$$-\sum_{k,l,\lambda,\mu=1}^{n} \overline{u}_{k} R_{\lambda \overline{\mu} k \overline{l}} \rho_{\overline{\lambda}} \rho_{\mu} u_{l} \leq \frac{1}{2} K \|u\|^{2}$$

$$(3.14)$$

and, similar as in (3.12)

$$\left|\sum_{k,l,\lambda,\mu,\nu=1}^{n} \overline{u}_{k} (\tau_{k\nu}^{\overline{\mu}} \tau_{\overline{\lambda}l}^{\nu} + \tau_{\mu k}^{\overline{\nu}} \tau_{\overline{l}\overline{\nu}}^{\lambda}) \rho_{\lambda} \rho_{\overline{\mu}} u_{l}\right| \leq \sqrt{n} A_{1}^{2} \|u\|^{2}.$$
(3.15)

Hence

$$-u^* E u \le \left(\frac{1}{2}K + \sqrt{n}A_1^2\right) \|u\|^2.$$
(3.16)

Combining (3.9)–(3.10), (3.13) and (3.16), we get

$$\frac{\mathrm{d}X}{\mathrm{d}\rho} + X^2 + AX + XA^* \le \xi I_n,\tag{3.17}$$

where

$$\xi = \left(2\sqrt{n} + \frac{1}{2}\right)A_1^2 + A_2 + \frac{1}{2}K.$$
(3.18)

Moreover, by Corollary 2.2, and that

$$\rho_{,k\overline{l}} \sim \frac{1}{\rho} (\delta_{k\overline{l}} - \rho_k \rho_{\overline{l}}) \tag{3.19}$$

as $\rho \to 0^+$ (see for example [28]), we have

$$X \le \left(\frac{1}{\rho} + \frac{A_1}{\sqrt{2}}\right) I_n \tag{3.20}$$

as $\rho \to 0^+$.

Let $Y = \left(\frac{1}{\rho} + 2\xi^{\frac{1}{2}}\right)I_n$. Note that

$$(A + A^*) \ge -\sqrt{2}A_1I_n, \quad \xi \ge 2A_1^2$$

and (3.17). We have

$$\frac{dY}{d\rho} + Y^{2} + AY + YA^{*}
= \left(\frac{4}{\rho}\xi^{\frac{1}{2}} + 4\xi\right)I_{n} + \left(\frac{1}{\rho} + 2\xi^{\frac{1}{2}}\right)(A + A^{*})
\geq \frac{1}{\rho}(4\xi^{\frac{1}{2}} - \sqrt{2}A_{1})I_{n} + (4\xi - 2\sqrt{2}\xi^{\frac{1}{2}}A_{1})I_{n}
\geq \xi I_{n}
\geq \frac{dX}{d\rho} + X^{2} + AX + XA^{*}.$$
(3.21)

Moreover,

$$Y \ge X \tag{3.22}$$

as $\rho \to 0^+$ by (3.20). By comparison of matrix Ricatti equations in [27], we have

$$X(\rho) \le Y(\rho) \tag{3.23}$$

for all ρ within the cut-locus of o. This completes the proof of the theorem.

In the following, we give a sharp diameter estimate for almost Hermitian manifolds. We first extend the notion of quasi-holomorphic sectional curvature in [4] for Hermitian manifolds to almost Hermitian manifolds.

Definition 3.2 Let (M, J, g) be an almost Hermitian manifold. Let X be a real unit vector on M. Define the quasi holomorphic sectional curvature QH(X) as

$$QH(X) = R_{1\overline{1}1\overline{1}} - \sum_{i=2}^{n} |\tau_{i1}^{1} + \tau_{i1}^{\overline{1}}|^{2}, \qquad (3.24)$$

where we have fixed a unitary frame (e_1, e_2, \cdots, e_n) with $e_1 = \frac{1}{\sqrt{2}}(X - \sqrt{-1}JX)$.

Remark 3.1 When the complex structure is integrable, the definition of quasi holomorphic sectional curvature is the same as that in [4].

Theorem 3.2 Let (M, J, g) be a complete almost Hermitian manifold and the quasi holomorphic sectional curvature is not less than K > 0. Then $d(M) \leq \frac{\pi}{\sqrt{K}}$.

Proof Fixed a unitary frame (e_1, e_2, \dots, e_n) , using Lemmas 3.1–3.2, noting that τ and R are both skew symmetric, we have

$$\begin{aligned} \frac{\mathrm{d}}{\mathrm{d}\rho}(\rho_{\alpha\overline{\beta}}\rho_{\overline{\alpha}}\rho_{\beta}) \\ &= (\rho_{\alpha\overline{\beta}}\rho_{\overline{\alpha}}\rho_{\beta})_{\mu}\rho_{\overline{\mu}} + (\rho_{\alpha\overline{\beta}}\rho_{\overline{\alpha}}\rho_{\beta})_{\overline{\mu}}\rho_{\mu} \\ &= (\rho_{\alpha\overline{\beta}\mu}\rho_{\overline{\mu}} + \rho_{\overline{a}}\overline{\rho_{\overline{\mu}}}\rho_{\mu})\rho_{\overline{\alpha}}\rho_{\beta} + \rho_{\alpha\overline{\beta}}(\rho_{\overline{\alpha}\mu}\rho_{\overline{\mu}} + \rho_{\overline{\alpha}\overline{\mu}}\rho_{\mu})\rho_{\beta} + \rho_{\alpha\overline{\beta}}\rho_{\overline{\alpha}}(\rho_{\beta\mu}\rho_{\overline{\mu}} + \rho_{\beta\overline{\mu}}\rho_{\mu}) \\ &= -(\rho_{\mu\overline{\beta}}\rho_{\overline{\mu}\alpha} + \rho_{\overline{\mu}}\tau_{\mu\alpha}^{\lambda}\rho_{\lambda\overline{\beta}} + \rho_{\alpha\overline{\lambda}}\tau_{\overline{\mu}\beta}^{\overline{\lambda}}\rho_{\mu} + \rho_{\mu\alpha}\rho_{\overline{\mu}\overline{\beta}} + \rho_{\alpha\lambda}\tau_{\overline{\mu}\beta}^{\lambda}\rho_{\mu} + \rho_{\overline{\mu}}\tau_{\mu\alpha}^{\overline{\lambda}}\rho_{\overline{\beta}\lambda} \\ &+ R_{\overline{\beta}\lambda\mu\alpha}\rho_{\overline{\lambda}}\rho_{\overline{\mu}} + R_{\alpha\overline{\lambda}\overline{\mu}\overline{\beta}}\rho_{\lambda}\rho_{\mu} + R_{\mu\overline{\lambda}\alpha\overline{\beta}}\rho_{\lambda}\rho_{\mu})\rho_{\beta} \\ &+ \rho_{\alpha\overline{\beta}}(\rho_{\mu\overline{\alpha}}\rho_{\overline{\mu}} + \rho_{\overline{\mu}\alpha}\rho_{\mu} + \tau_{\overline{\lambda}\mu}^{\lambda}\rho_{\lambda}\rho_{\overline{\mu}} + \tau_{\overline{\mu}\beta}\rho_{\mu})\rho_{\beta} \\ &+ \rho_{\alpha\overline{\beta}}\rho_{\overline{\alpha}}(\rho_{\mu\beta}\rho_{\overline{\mu}} + \tau_{\beta\mu}^{\lambda}\rho_{\lambda}\rho_{\overline{\mu}} + \tau_{\overline{\lambda}\mu}^{\overline{\lambda}}\rho_{\overline{\lambda}}\rho_{\overline{\mu}})\rho_{\beta} \\ &= -(\rho_{\mu\overline{\beta}}\rho_{\overline{\mu}}\rho_{\beta}\rho_{\overline{\alpha}} + \rho_{\mu\alpha}\rho_{\overline{\mu}\overline{\beta}}\rho_{\overline{\alpha}}\rho_{\beta}) - R_{\mu\overline{\lambda}\alpha\overline{\beta}}\rho_{\overline{\mu}}\rho_{\lambda}\rho_{\alpha}\rho_{\beta} + \rho_{\alpha\overline{\beta}}(\tau_{\overline{\lambda}\mu}^{\lambda}\rho_{\lambda} + \tau_{\overline{\lambda}\mu}^{\overline{\lambda}}\rho_{\overline{\lambda}})\rho_{\mu}) \\ &= -[\rho_{\mu\overline{\beta}}\rho_{\overline{\mu}}\rho_{\beta}\rho_{\overline{\alpha}} + (-\rho_{\alpha}\rho_{\mu\overline{\alpha}} + \tau_{\mu\alpha}^{\lambda}\rho_{\lambda}\rho_{\overline{\alpha}} + \tau_{\overline{\mu}\alpha}^{\overline{\lambda}}\rho_{\overline{\lambda}}\rho_{\overline{\alpha}})(-\rho_{\overline{\beta}}\rho_{\beta\overline{\mu}} + \tau_{\overline{\mu}\beta}^{\lambda}\rho_{\lambda}\rho_{\beta} + \tau_{\overline{\mu}\beta}^{\overline{\lambda}}\rho_{\overline{\lambda}}\rho_{\beta})] \\ &- R_{\mu\overline{\lambda}\alpha\overline{\beta}}\rho_{\overline{\mu}}\rho_{\lambda}\rho_{\overline{\alpha}}\rho_{\beta} + \rho_{\alpha\overline{\beta}}(\tau_{\overline{\lambda}\mu}^{\lambda}\rho_{\lambda} + \tau_{\overline{\lambda}\mu}^{\overline{\lambda}}\rho_{\overline{\lambda}})\rho_{\mu}\rho_{\beta} + \rho_{\alpha\overline{\beta}}\rho_{\overline{\alpha}}(\tau_{\beta\mu}^{\lambda}\rho_{\lambda} + \tau_{\overline{\beta}\mu}^{\overline{\lambda}}\rho_{\overline{\lambda}})\rho_{\overline{\mu}}. \tag{3.25}$$

Assume that $e_1 = \frac{1}{\sqrt{2}} (\nabla \rho - \sqrt{-1} J \nabla \rho)$. Then

$$\rho_1 = \rho_{\overline{1}} = \frac{1}{\sqrt{2}}, \quad \rho_i = \rho_{\overline{i}} = 0 \quad \text{for } i > 1.$$
(3.26)

Let $f = \rho_{\alpha\overline{\beta}}\rho_{\overline{\alpha}}\rho_{\beta} = \frac{\rho_{1\overline{1}}}{2}$, by (3.25), we know that

$$\frac{\mathrm{d}f}{\mathrm{d}\rho} = -4f^2 - \frac{1}{4}R_{1\overline{1}1\overline{1}} \\
-\sum_{i=2}^n \left(|\rho_{1\overline{i}}|^2 - 2\mathrm{Re}\left\{ \frac{\rho_{1\overline{i}}(\tau_{i\overline{1}}^{\overline{1}} + \tau_{i\overline{1}}^{\overline{1}})}{\sqrt{2}} \right\} + \frac{1}{4} |\tau_{i\overline{1}}^1 + \tau_{i\overline{1}}^{\overline{1}}|^2 \right) \\
\leq -4f^2 - \frac{1}{4} \left(R_{1\overline{1}1\overline{1}} - \sum_{i=2}^n |\tau_{i\overline{1}}^1 + \tau_{i\overline{1}}^{\overline{1}}|^2 \right) \\
\leq -4f^2 - \frac{K}{4}.$$
(3.27)

Moreover, by Corollary 2.2, we have

$$\rho_{\alpha\overline{\beta}}\rho_{\overline{\alpha}}\rho_{\beta} = \rho_{,\alpha\overline{\beta}}\rho_{\overline{\alpha}}\rho_{\overline{\beta}} + \frac{1}{2}(\tau^{\beta}_{\alpha\lambda}\rho_{\overline{\lambda}} + \tau^{\overline{\alpha}}_{\overline{\beta\lambda}}\rho_{\lambda})\rho_{\overline{\alpha}}\rho_{\beta} = \rho_{,\alpha\overline{\beta}}\rho_{\overline{\alpha}}\rho_{\beta} \sim \frac{1}{4\rho}$$
(3.28)

as $\rho \to 0$. By comparison of Riccati equation in [27], we know that

$$f \le \frac{\sqrt{K}}{4} \cot(\sqrt{K\rho}). \tag{3.29}$$

Hence, by a classical argument (see for example [21]), we get the conclusion.

Remark 3.2 The diameter estimate above was disguised with a seemingly different curvature assumption in [14]. Indeed, using the curvature identities in [32], one can find that the two curvature assumptions in [14] and in the above are the same.

4 First Eigenvalue Estimate for Quasi Kähler Manifolds

In this section, we give a sharp first eigenvalue estimate for compact quasi Kähler manifolds.

By Corollary 2.4, we know that Δ coincides with Δ^L for quasi Kähler manifolds. By the same technique as in [2, 11], we have the following sharp spectrum lower bound for compact quasi Kähler manifolds which generalizes a similar estimate on compact Kähler manifolds of Aubin [2]. Before stating the result, we need the following definition of quasi Ricci curvature.

Definition 4.1 Let (M, J, g) be a quasi Kähler manifold and let

$$\mathcal{R}_{i\overline{j}} = R_{i\overline{j}\lambda\overline{\lambda}} - \frac{1}{2} (\tau^{j}_{\overline{\lambda}\overline{\mu}}\tau^{\overline{\mu}}_{\lambda i} + \tau^{\overline{i}}_{\overline{\lambda}\mu}\tau^{\mu}_{\overline{\lambda}\overline{j}}) - \frac{1}{4}\tau^{\overline{i}}_{\overline{\lambda}\mu}\tau^{j}_{\overline{\lambda}\overline{\mu}}.$$
(4.1)

We call $\mathcal{R}_{i\bar{j}}$ the quasi Ricci curvature.

Theorem 4.1 Let (M, J, g) be a compact quasi Kähler manifold with quasi Ricci curvature bounded from below by a positive constant K. Then $\lambda_1 \ge 2K$, where λ_1 is the first eigenvalue for the Laplacian operator of (M, g).

Proof Let f be an first eigenfunction for the Laplacian operator. Then

$$\Delta f = -\lambda_1 f. \tag{4.2}$$

Fixed a unitary frame (e_1, e_2, \dots, e_n) , using the Corollaries 2.1 and 2.3–2.4, we know that

$$\begin{split} &-\lambda_{1} \int_{M} \|\nabla f\|^{2} dV_{g} \\ &= -2\lambda_{1} \int_{M} f_{\alpha} f_{\alpha} dV_{g} \\ &= 2 \int_{M} f_{\beta\overline{\beta}\alpha} f_{\alpha} dV_{g} + 2 \int_{M} f_{\overline{\beta}\beta\overline{\alpha}} f_{\alpha} dV_{g} \\ &= 2 \int_{M} (f_{\beta\alpha\overline{\beta}} - R_{\beta\overline{\lambda}\alpha\overline{\beta}} f_{\lambda}) f_{\alpha} dV_{g} + 2 \int_{M} (f_{\overline{\beta}\overline{\alpha}\beta} - R_{\overline{\beta}\lambda\overline{\alpha}\beta} f_{\overline{\lambda}}) f_{\alpha} dV_{g} \\ &= 2 \int_{M} (f_{\beta\alpha}f_{\overline{\alpha}})_{\overline{\beta}} dV_{g} + 2 \int_{M} (f_{\overline{\beta}\overline{\alpha}} f_{\alpha})_{\overline{\beta}} dV_{g} - 2 \int_{M} f_{\beta\alpha} f_{\overline{\alpha}\overline{\beta}} dV_{g} - 2 \int_{M} f_{\overline{\beta}\overline{\alpha}} f_{\alpha\beta} dV_{g} \\ &- 2 \int_{M} (R_{\beta\overline{\lambda}\alpha\overline{\beta}} f_{\lambda}f_{\overline{\alpha}} + R_{\overline{\beta}\lambda\overline{\alpha}\beta} f_{\overline{\lambda}}f_{\alpha}) dV_{g} \\ &= -2 \int_{M} (f_{\alpha\beta} + \tau_{\overline{\beta}\alpha}^{\overline{\lambda}} f_{\overline{\lambda}}) f_{\overline{\alpha}\overline{\beta}} dV_{g} - 2 \int_{M} (f_{\overline{\alpha}\overline{\beta}} + \tau_{\overline{\beta}\overline{\alpha}}^{\overline{\lambda}} f_{\lambda}) f_{\alpha\beta} dV_{g} \\ &- 2 \int_{M} [(R_{\alpha\overline{\lambda}\beta\overline{\beta}} - \tau_{\overline{\lambda}\overline{\mu}}^{\overline{\mu}} \tau_{\beta\alpha}^{\overline{\mu}}) f_{\lambda}f_{\overline{\alpha}} + (R_{\lambda\overline{\alpha}\overline{\beta}\overline{\beta}} - \tau_{\overline{\beta}\mu}^{\overline{\lambda}} \tau_{\overline{\beta}\alpha}^{\mu}) f_{\overline{\lambda}}f_{\alpha}] dV_{g} \\ &= -4 \int_{M} f_{\alpha\beta} f_{\overline{\alpha}\overline{\beta}} dV_{g} + 4 \int_{M} \operatorname{Re} \{f_{\alpha\beta} \tau_{\overline{\alpha}\beta}^{\lambda} f_{\lambda}\} dV_{g} \\ &- 4 \int_{M} \left[R_{\alpha\overline{\beta}\lambda\overline{\lambda}} - \frac{1}{2} (\tau_{\overline{\lambda}\mu}^{\beta} \tau_{\overline{\lambda}\alpha}^{\overline{\mu}} + \tau_{\overline{\lambda}\mu}^{\overline{\alpha}} \tau_{\overline{\lambda}\beta}^{\mu}) \right] f_{\alpha}f_{\beta} dV_{g} \\ &= -4 \int_{M} \int_{M} \left[R_{\alpha\overline{\beta}\lambda\overline{\lambda}} - \frac{1}{2} (\tau_{\overline{\lambda}\mu}^{\beta} \tau_{\overline{\lambda}\alpha}^{\mu} + \tau_{\overline{\lambda}\mu}^{\alpha} \tau_{\overline{\lambda}\beta}^{\mu}) - \frac{1}{4} \tau_{\overline{\lambda}\mu}^{\overline{\alpha}} \tau_{\overline{\lambda}\mu}^{\beta}} \right] f_{\alpha}f_{\beta} dV_{g} \\ &\leq -4 \int_{M} \mathcal{R}_{\alpha\overline{\beta}} f_{\overline{\alpha}} f_{\alpha} f_{\beta} dV_{g} \\ &\leq -2K \int_{M} \|\nabla f\|^{2} dV_{g}. \end{split}$$

$$(4.3)$$

Hence

$$\lambda_1 \ge 2K. \tag{4.4}$$

For the equality case, we come to show that the equality can also be achieved by non-Kähler manifolds. Let \mathbb{S}^6 be equipped with the standard almost complex structure and standard Riemannian metric. Then, \mathbb{S}^6 becomes a nearly Kähler manifold. For this nearly Kähler manifold, $R_{i\overline{j}}^L = 5\delta_{ij}$, and by [32], $R_{i\overline{j}} = 0$. By the curvature identity

$$R_{i\overline{j}}^{L} = R_{i\overline{j}} + \frac{5}{4} \sum_{\lambda,\mu=1}^{n} \tau_{\overline{\lambda}\mu}^{\overline{i}} \tau_{\overline{\lambda}\overline{\mu}}^{j}$$

in [32], we have

$$\sum_{\lambda,\mu=1}^{n} \tau_{\lambda\mu}^{\overline{i}} \tau_{\overline{\lambda\mu}}^{j} = 4\delta_{ij}.$$
(4.5)

Therefore, the quasi Ricci curvature

$$\mathcal{R}_{i\overline{j}} = R_{i\overline{j}} + \frac{3}{4} \sum_{\lambda,\mu=1}^{n} \tau^{\overline{i}}_{\lambda\mu} \tau^{j}_{\overline{\lambda}\overline{\mu}} = 3\delta_{ij}, \qquad (4.6)$$

where we have used Lemma 2.6. So, the constant K in the last theorem is 3. It is clear that the first eigenvalue of the standard metric on \mathbb{S}^6 is 6. So, equality of the last theorem is achieved by the nearly Kähler manifold \mathbb{S}^6 .

5 Sharp Hessian Comparison on Nearly Kähler Manifolds

In this section, by using the Bochner technique in [22], we obtain a sharp Hessian comparison on nearly Kähler manifolds generalizing the results of [22, 28].

Lemma 5.1 Let (M, J, g) be a complete nearly Kähler manifold, o be a fixed point and $\rho(x)$ be the distance from x to o. Let γ be a normal geodesic starting from o. Let (e_1, e_2, \dots, e_n) be a unitary frame parallel along γ with respect to the canonical connection with $e_1 = \frac{1}{\sqrt{2}}(\gamma'(0) - J\gamma'(0))$. Then $e_1 = \frac{1}{\sqrt{2}}(\gamma' - \sqrt{-1}J\gamma')$ all over γ , $\rho_1 = \rho_{\overline{1}} = \frac{1}{\sqrt{2}}$, $\rho_i = \rho_{\overline{i}} = 0$ for all i > 1 and $\rho_{i1} = -\rho_{i\overline{1}}$ in the cut-locus of o, for all $i \ge 1$.

Proof By Lemma 2.5, $\nabla_{\gamma'}\gamma' = D_{\gamma'}\gamma' = 0$. So $e_1 = \frac{1}{\sqrt{2}}(\gamma' - J\gamma')$ is parallel along γ with respect to the canonical connection. It is clear that e_1 is also parallel along γ with respect to the Leiv-Civita connection. Moreover $e_1 = \frac{1}{\sqrt{2}}(\nabla \rho - J\nabla \rho)$. Hence

$$\rho_1 = \langle \nabla \rho, e_1 \rangle = \frac{1}{\sqrt{2}} \tag{5.1}$$

and

$$\rho_i = \langle \nabla \rho, e_i \rangle = 0 \tag{5.2}$$

for all i > 1. By these and Lemma 3.1, we know that

$$\rho_{i1} = -\rho_{i\overline{1}} \tag{5.3}$$

for all $i \geq 1$.

Before stating the sharp Hessian comparison on nearly Kähler manifolds, we introduce the following notion of quasi holomorphic bisectional curvature.

Definition 5.1 On a nearly Kähler manifold, define

$$\mathcal{R}(X,\overline{X},Y,\overline{Y}) = R(X,\overline{X},Y,\overline{Y}) + \|\tau(X,Y)\|^2$$
(5.4)

for any (1,0) vectors X and Y. We say that the quasi holomorphic bisectional curvature of M is not less than K if

$$\frac{\mathcal{R}(X,\overline{X},Y,\overline{Y})}{\|X\|^2 \|Y\|^2 + |\langle X,\overline{Y}\rangle|^2} \ge K$$
(5.5)

for any two nonzero (1,0) vectors X and Y.

Theorem 5.1 Let (M, J, g) be a complete nearly Kähler manifold and o be a fixed point in M. Let $B_o(R)$ be a geodesic ball within the cut-locus of o. Suppose that the quasi holomorphic bisectional curvature on $B_o(R)$ is not less than K where K is a constant. Then

$$\rho_{i\overline{j}} \leq \begin{cases}
\sqrt{\frac{K}{2}} \cot\left(\sqrt{\frac{K}{2}}\rho\right)(g_{i\overline{j}} - 2\rho_i\rho_{\overline{j}}) \\
+\sqrt{2K}\cot(\sqrt{2K}\rho)\rho_i\rho_{\overline{j}}, & K > 0, \\
\frac{1}{\rho}(g_{i\overline{j}} - \rho_i\rho_{\overline{j}}), & K = 0, \\
\sqrt{-\frac{K}{2}}\coth\left(\sqrt{-\frac{K}{2}}\rho\right)(g_{i\overline{j}} - 2\rho_i\rho_{\overline{j}}) \\
+\sqrt{-2K}\coth(\sqrt{-2K}\rho)\rho_i\rho_{\overline{j}}, & K < 0
\end{cases}$$
(5.6)

in $B_o(R)$ with equality holds all over $B_o(R)$ if and only if $B_o(R)$ is holomorphic and isometric equivalent to the geodesic ball with radius R in the Kähler space form of constant holomorphic bisectional curvature K, where ρ is the distance function to the fixed point o.

Proof Let γ be a geodesic starting from o, and (e_1, e_2, \dots, e_n) be the same as in Lemma 5.1. Then, by Lemmas 2.6, 3.2 and 5.1, and Corollary 2.5, we know that

$$\rho_{k\overline{l}\nu}\rho_{\overline{\nu}} + \rho_{k\overline{l}\overline{\nu}}\rho_{\nu}$$

$$= -\rho_{\nu\overline{l}}\rho_{\overline{\nu}k} - \rho_{\nu k}\rho_{\overline{\nu}\overline{l}} - \rho_{\lambda k}\tau_{\overline{\nu}\overline{l}}^{\lambda}\rho_{\nu} - \rho_{\overline{\nu}}\tau_{\nu k}^{\overline{\lambda}}\rho_{\overline{\lambda}\overline{l}} - (R_{\nu\overline{\lambda}k\overline{l}} + \tau_{k\mu}^{\overline{\nu}}\tau_{\overline{\lambda}\overline{l}}^{\mu} + \tau_{\nu k}^{\overline{\mu}}\tau_{\overline{l}\mu}^{\lambda})\rho_{\lambda}\rho_{\overline{\nu}}$$

$$= -\rho_{\nu\overline{l}}\rho_{\overline{\nu}k} - \rho_{1k}\rho_{\overline{1}\overline{l}} - \sum_{\alpha=2}^{n}\rho_{\alpha k}\rho_{\overline{\alpha}\overline{l}} + \frac{1}{\sqrt{2}}(\rho_{\lambda k}\tau_{\overline{\lambda}\overline{l}}^{1} + \tau_{\overline{\lambda}k}^{\overline{1}}\rho_{\overline{\lambda}\overline{l}}) - \frac{1}{2}(R_{1\overline{1}k\overline{l}} + 2\tau_{\lambda k}^{\overline{1}}\tau_{\overline{\lambda}\overline{l}})$$

$$= -\rho_{k\overline{\nu}}\rho_{\nu\overline{l}} - \rho_{k\overline{1}}\rho_{1\overline{l}} - \sum_{\alpha=2}^{n}\rho_{\alpha k}\rho_{\overline{\alpha}\overline{l}} + \frac{1}{\sqrt{2}}\left(\sum_{\alpha=2}^{n}\rho_{\alpha k}\tau_{\overline{\alpha}\overline{l}}^{1} + \sum_{\alpha=2}^{n}\tau_{\alpha k}^{\overline{1}}\rho_{\overline{\alpha}\overline{l}}\right)$$

$$- \frac{1}{2}\left(R_{1\overline{1}k\overline{l}} + 2\sum_{\alpha=2}^{n}\tau_{\alpha k}^{\overline{1}}\tau_{\overline{\alpha}\overline{l}}^{1}\right).$$
(5.7)

Let

$$\begin{split} X &= (\rho_{k\bar{l}})_{k=1,2,\cdots,n}^{l=1,2,\cdots,n}, \\ B &= (\rho_{\bar{k}\bar{l}})_{k=2,3,\cdots,n}^{l=1,2,\cdots,n}, \\ C &= \frac{1}{\sqrt{2}} (\tau_{\bar{k}\bar{l}})_{k=2,3,\cdots,n}^{l=1,2,\cdots,n}, \\ D &= \Big(-\frac{1}{2} \Big(R_{1\bar{1}\bar{k}\bar{l}} + 2\sum_{\alpha=2}^{n} \tau_{\alpha\bar{k}}^{\bar{1}} \tau_{\overline{\alpha}\bar{l}}^{1} \Big) \Big)_{k=1,2,\cdots,n}^{l=1,2,\cdots,n} \end{split}$$

and X_1 be the first column of X. Then

$$\frac{\mathrm{d}X}{\mathrm{d}\rho} + X^2 + X_1 X_1^* = -B^* B + B^* C + C^* B + D$$

= -(B - C)*(B - C) + C*C + D
< C*C + D

$$= -\frac{1}{2} (R_{1\overline{1}k\overline{l}} + \tau_{1k}^{\overline{\alpha}} \tau_{1\overline{l}}^{\alpha})_{k=1,2,\cdots,n}^{l=1,2,\cdots,n}$$

$$\leq \begin{pmatrix} -K & 0 \\ 0 & -\frac{K}{2} I_{n-1} \end{pmatrix}.$$
(5.8)

At this position, by the same argument as in [28], we have

$$X \leq \begin{cases} \left(\frac{\sqrt{2K}}{2} \cot(\sqrt{2K}\rho) & 0 \\ 0 & \sqrt{\frac{K}{2}} \cot\left(\sqrt{\frac{K}{2}}\rho\right) I_{n-1}\right), & K > 0 \\ \left(\frac{1}{2\rho} & 0 \\ 0 & \frac{1}{2}I_{n-1}\right), & K = 0, & (5.9) \\ \left(\frac{\sqrt{-2K}}{2} \coth(\sqrt{-2K}\rho) & 0 \\ 0 & \sqrt{-\frac{K}{2}} \coth\left(\sqrt{-\frac{K}{2}}\rho\right) I_{n-1}\right), & K < 0. \end{cases}$$

This is the inequality in the conclusion of the theorem.

If the equality holds, we have $\rho_{kl} = \frac{1}{\sqrt{2}} \tau_{kl}^{\overline{1}}$ for $k, l = 2, 3, \dots, n$. By (2.8), we have

$$\rho_{kl} = \rho_{lk} + \tau_{kl}^{\overline{\lambda}} \rho_{\overline{\lambda}} = \frac{1}{\sqrt{2}} \tau_{lk}^{\overline{1}} + \frac{1}{\sqrt{2}} \tau_{kl}^{\overline{1}} = 0$$
(5.10)

for all $k, l = 2, 3, \cdots, n$. Hence

$$\tau_{kl}^{\overline{1}} = 0 \tag{5.11}$$

for all $k, l = 1, 2, \dots, n$. In particular, we have

$$\tau(o) = 0. \tag{5.12}$$

By Theorem 2.1, we know that $\tau = 0$ and hence (M, J, g) is Kähler. Then by the equality case of the sharp Hessian comparison for Kähler manifolds in [28], we obtain the conclusion when equality holds.

By the Hessian comparison, we have the following direct corollary on Laplacian comparison.

Corollary 5.1 Let (M, J, g) be a complete nearly Kähler manifold and o be a fixed point in M. Let $B_o(R)$ be a geodesic ball within the cut-locus of o. Suppose that the quasi holomorphic bisectional curvature on $B_o(R)$ is not less than K where K is a constant. Then

$$\Delta \rho \leq \begin{cases} \sqrt{2K} \Big(\cot(\sqrt{2K}\rho) + (n-1)\cot\left(\sqrt{\frac{K}{2}}\rho\right) \Big), & K > 0, \\ \frac{2n-1}{\rho}, & K = 0, \\ \sqrt{-2K} \Big(\coth(\sqrt{-2K}\rho) + (n-1)\coth\left(\sqrt{-\frac{K}{2}}\rho\right) \Big), & K < 0 \end{cases}$$
(5.13)

in $B_o(R)$ with equality holds all over $B_o(R)$ if and only if $B_o(R)$ is holomorphic and isometric equivalent to the geodesic ball with radius R in the Kähler space form of constant holomorphic bisectional curvature K, where ρ is the distance function to the fixed point o.

By the same argument as in [5] (see also [21]), we have the following comparison of first eigenvalue and volume comparison for nearly Kähler manifolds.

Corollary 5.2 Let (M, J, g) be a complete nearly Kähler manifold and o be a fixed point in M. Let $B_o(R)$ be a geodesic ball within the cut-locus of o. Suppose that the quasi holomorphic bisectional curvature on $B_o(R)$ is not less than K where K is a constant. Then

$$\lambda_1(B_o(R)) \le \lambda_1(B_K(R)), \tag{5.14}$$

where $B_K(R)$ is the geodesic ball with radius R in the Kähler space form with constant holomorphic bisectional curvature K. Moreover, if the equality holds, then $B_o(R)$ and $B_K(R)$ are holomorphically isometric to each other.

Corollary 5.3 Let (M, J, g) be a complete nearly Kähler manifold and o be a fixed point in M. Let $B_o(R)$ be a geodesic ball within the cut-locus of o. Suppose that the quasi holomorphic bisectional curvature on $B_o(R)$ is not less than K where K is a constant. Then

$$V_o(R) \le V_K(R),\tag{5.15}$$

where $V_K(R)$ is the volume of $B_K(R)$. Moreover, if the equality holds, then $B_o(R)$ and $B_K(R)$ are holomorphically isometric to each other.

Corollary 5.4 Let (M, J, g) be a complete nearly Kähler manifold with quasi holomorphic bisectional curvature $\geq K$ with K > 0. Then

$$V(M) \le V(\mathbb{CP}_K^n),\tag{5.16}$$

where \mathbb{CP}_{K}^{n} means \mathbb{CP}^{n} equipped with a Kähler metric with constant holomorphic bisectional curvature K. Moreover, if the equality holds, M is holomorphically isometric to \mathbb{CP}_{K}^{n} .

Acknowledgement The author would like to thank the referees for helpful comments and suggestions.

References

- Apostolov, Vestislav and Drăghici, Tedi, The curvature and the integrability of almost-Kähler manifolds: a survey, Symplectic and Contact Topology: Interactions and Perspectives (Toronto, ON/Montreal, QC, 2001), Fields Inst. Commun., 35, Amer. Math. Soc., Providence, RI, 2003, 25–53.
- [2] Aubin, Thierry, Some nonlinear problems in Riemannian geometry, Springer Monographs in Mathematics, Springer-Verlag, Berlin, 1998.
- [3] Butruille, Jean-Baptiste, Classification des variétés approximativement kähleriennes homogénes (in French), (Classification of nearly-Kähler homogeneous manifolds), Ann. Global Anal. Geom., 27(3), 2005, 201–225.
- [4] Chen, Z. H. and Yang, H. C., Estimation of the upper bound on the Levi form of the distance function on Hermitian manifolds and some of its applications, Acta Math. Sinica, 27(5), 1984, 631–643 (in Chinese).
- [5] Cheng, S. Y., Eigenvalue comparison theorems and its geometric applications, Math. Z., 143(3), 1975, 289–297.
- [6] Chern, S. S., Characteristic classes of Hermitian manifolds, Ann. of Math., 47(1), 1946, 85–121.
- [7] Donaldson, S. K., Remarks on gauge theory, complex geometry and 4-manifold topology, Fields Medallists' Lectures, World Sci. Ser. 20th Century Math., 5, World Sci. Publ., River Edge, NJ, 1997, 384–403.
- [8] Donaldson, S. K., Two-forms on four-manifolds and elliptic equations, Inspired by S. S. Chern, 153-172, Nankai Tracts Math., 11, World Sci. Publ., Hackensack, NJ, 2006.

- Ehresmann, C. and Libermann, P., Sur les structures presque hermitiennes isotropes, C. R. Acad. Sci. Paris, 232, 1951, 1281–1283.
- [10] Fan, X. Q., Tam, Luen-Fai and Yu, C. J., Product of almost Hermitian manifolds, J. Geom. Anal., 24(3), 2014, 1425–1446.
- [11] Futaki, A., Kähler-Einstein Metrics and Integral Invariants, Lecture Notes in Mathematics, 1314, Berlin: Springer-Verlag, 1988.
- [12] Gauduchon, P., Hermitian connections and Dirac operators, Boll. Unione Mat. Ital. B., 11(2), 1997, suppl., 257–288.
- [13] Goldberg, S. I., Integrability of almost Kaehler manifolds, Proc. Amer. Math. Soc., 21, 1969, 96–100.
- [14] Gray, Alfred, Curvature identities for Hermitian and almost Hermitian manifolds, Tohoku Math. J., 28(4), 1976, 601–612.
- [15] Gray, Alfred, The structure of nearly Kähler manifolds, Math. Ann., 223(3), 1976, 233–248.
- [16] Gray, Alfred, Nearly Kähler manifolds, J. Differential Geometry, 4, 1970, 283–309.
- [17] Gray, Alfred, Riemannian manifolds with geodesic symmetries of order 3, J. Differential Geometry, 7, 1972, 343–369.
- [18] Kirichenko, V. F., K-spaces of maximal rank, Mat. Zametki, 22(4), 1977, 465-476.
- [19] Kobayashi, S., Almost complex manifolds and hyperbolicity, Results Math., 40(1-4), 2001, 246-256.
- [20] Kobayashi, S., Natural connections in almost complex manifolds, Explorations in complex and Riemannian geometry, Contemp. Math., 332, Amer. Math. Soc., Providence, RI, 2003, 153–169.
- [21] Li, Peter, Lecture notes on geometric analysis, Lecture Notes Series, 6, Seoul National University, Research Institute of Mathematics, Global Analysis Research Center, Seoul, 1993.
- [22] Li, P. and Wang, J. P., Comparison theorem for Kähler manifolds and positivity of spectrum, J. Differential Geometry, 69(1), 2005, 43–74.
- [23] Lichnerowicz, A., Géometrie des Groupes de Transformations, Dunod, Paris, 1958.
- [24] Nagy, Paul-Andi, Nearly Kähler geometry and Riemannian foliations, Asian J. Math., 6(3), 2002, 481–504.
- [25] Nagy, Paul-Andi, On nearly-Kähler geometry, Ann. Global Anal. Geom., 22(2), 2002, 167–178.
- [26] Obata, M., Certain conditions for a Riemannian manifold to be isometric with a sphere, J. Math. Soc. Japan, 14, 1962, 333–340.
- [27] Royden, H. L., Comparison theorems for the matrix Riccati equation, Comm. Pure Appl. Math., 41(5), 1988, 739–746.
- [28] Tam, Luen-Fai and Yu, C. J., Some comparison theorems for Kähler manifolds, Manuscripta Math., 137(3–4), 2012, 483–495.
- [29] Tosatti, V., A general Schwarz lemma for almost-Hermitian manifolds, Comm. Anal. Geom., 15(5), 2007, 1063–1086.
- [30] Tosatti, V., Weinkove, B. and Yau, S. T., Taming symplectic forms and the Calabi-Yau equation, Proc. London Math. Soc., 97(3), 2008, 401–424.
- [31] Yau, S. T., A general Schwarz lemma for Kähler manifolds, Amer. J. Math., 100(1), 1978, 197–203.
- [32] Yu, C. J., Curvature identities on almost Hermitian manifolds and applications, Science in China, Mathamatics, 60(2), 2017, 285–300.